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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

r. Answer the following as directed : 1x7=7

(a) Define null hypothesis.

1w %tl

(b) 95% confidence interval for population

mean (g) for large sample test is

Contd.



(fi) ̂  ̂(i% ^

(i)

afii) x±1.96^

a

Cm) ^

fijjj x±2.58^

(Choose the correct option)

(a) Write any one basic assumption of

ANOVA.

ANOVA^ Rc<PlMl ̂  fNt I

(d) Level of significance is denoted by :

^ 155^61 %t

(i) a

. (n) Y
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m P

(iv) None of the above

(Choose the correct option)

(m ^

(e) In one way classified data, sum of

squares due to error (SSE) is obtained
as :

Ca£t^1^x5tWsXs<?|R WcmWRH#

t

(i) SSE = SSR-SSC

(it) SSE = Total SS - Treatment SS

(in) SSE = SSC - SSR

(iv) None of the above (^<1^ (.<MWlCi5lM

(Choose the correct option)

. (m ^

(f) For a 'sign' test, if two scores are tied,
then we discard them.

(State True or False)

1^' ^ ^

(m (?T mw

3 (Sem-3/CBCS) STA HG/RC/G 3 Contd.



(g) In ANOVA test, following test statistic
is used :

ANOVA

^ %

(i) Z test

(ii) F test

(Hi) t - test

(iv) None of the above wlwlwlc.^

W)

(Choose the correct answer)

(m ^

2. Answer the following questions : 2x4=8

(a) Write one diference between simple and
composite hypothesis.

(b) Explain the term 'standard error'.

u#' wi

(c) Define treatment and experimental
error in design of experiment.
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(d) What do you mean by 'Yates's
correction' ?

1%

3. Answer any three questions from the
following : 5x3=15

^ #Nt s

(a) Write the basic principles of design of
experiment.

(b) A random sample of 500 apples was
taken from a large consignment and
60 were found to be bad. Obtain the

(i) 95% and (ii) 99% confidence limits
for the percentage of bad apples in the
consignment.

^ ̂ C5Tl?ft 50C(5T
6061 (?rat

dM (M (i) 95% ̂  (ii) 99% 1^^
^ ̂  I

(c) Write five advantages of non-parametric
methods over parametric methods.

fr«n I
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(d) Discuss in detail how Chi-square

statistic is used in testing goodness of

fit.

y2 ^ Ca£|^

^  ̂ I

(e) Construct an ANOVA table of an

experiment involving six treatments in

four randomised blocks using the

following data :

^  ANOVA V61R|<|>1
21^ %

•  SST = 901.19

SSB = 219.43

Total SS = 1350.25

4. Answer either (a) or (b) : 10

(a) ̂sfdMt (b) ? ̂  %

(a) Discuss in detail the analysis of
variance of one way classified data.

»£RR35|^
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(b) Describe the procedure in median test
when there are two independent
samples. What non-parametric test
would you use when the two ssimples
are related?

^^1^ ̂ 5^ I

Answer either (a) or (b) : 10

(a) (b) ̂  S

(a) What is a randomised block design ?
Write its advantages and disadvantages.

2+4+4=10

^Rt I

(b) (i) For a 2x2 contingency table 5

i£l^ 2x2 ^olPl4H 4114

a b

c d

Show that ((71^841 C4)

2  Njad-bcf
^ ~ (a + b)(c + d)(b + d){a + c)
where, (4"^) N = a + b + c + d

3 (Sem-3/CBCS) STA HG/RC/G 7 Contd.



(ii) Write any five applications of
distribution. 5

6. Answer either (a) or (b) : 10

(a) (b) ̂  ̂  %rf S

(a) Derive Wilcoxon two sample test.

^  Wilcoxon ̂^•splc5l ^5^ I

(b) Write short notes on : 5+5=10

^ c5m %

(i) CRD

(ii) Principal steps in testing a
statistical h3^othesis.

£f«lH I
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